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BEDEZ T ETICRIEE
DUiRyoR 7, 800F/ER = EOZFINLHE
TE%7Y (785R9) 7, SOOF/BERY x 78%R) = 54, 600M/H
=>E{TH#R = 54,600 x 27H x 7HMB(8B~) = 10,319, 400H

HEEINEERIC MAX TREULZBAEDEERAZEE
DIFHIERKE/NR SEEGEFRTIOARE = 300 X 9A
1BRIICTE(7/E/R) = 2, T00M/@E x 7/ = 18,900M
18,900M x 27H x 7TnhA(BA~) = 3,572,100H
IN%tb% 3,572,100 / 10,319,400 = 34.6%

2, 700M

QRZEFHIALERKE/NR EEFFRVTIARE = 400 X 9A
1REIC1E(7/E/B) = 3,600MH/E x 7 = 25,200MH
25,200 x 27H x 7ThA(BA~) = 4,762,800
Nzt 4,762,800 / 10,319,400 = 46.2%

3, 600H

QRZEFALERKE/NR FEEFFRVTIARE = 500 X 9A
18EIC1E(7E/B) = 4,500/ x 7 = 31, 500MH
31,500 x 27H x 7hH(BH~) = 5,953,500H
xzte=% 5,953,500 / 10,319,400 = 57.7%

4,500H

SE)REFHILERKE/NR EEFFRVTIARE = 2008 x 9N = 1,800M
1RREICTE(7/E/B) = 1,800/ X 7 = 12, 600

12,600 x 27H x 7hA(BA~) = 2,381,400MH

Nzt 2,381,400 / 10,319,400 = 23.1%
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